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Answer all Five questions from Group B, each question 

carries 4  marks.
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OR

Explain about world wide web and what are the

advantages of it.

Describe the addressing system used by SMTP.

SMTP 

formats?

9.

8.

8

8

OR

Old Syllabus

8
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        The ........layer is responsible for the source to
 destination delivery of a packet, possibly 
across multiple networks:
(a) Network
(b) Session
(c)Transport 
(d) Data link

The header added by the network layer to 
the packet coming from the upper layer 
includes the addresses of the sender and 
receiver.
(a) Logical
(b) Part
(c) Physical
(d) Network

OT5020OT5020

What is UDP?

UDP 

OR

Answer all Five Questions. 

Explain about physical layer and data link layer in

detail

7.

8 x 5 = 40

8
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(iii)

(iii)

(iv)

(ii)

The............layer ensures end-to end reliable
data transmission:
(a) Network
(b) Physical
(c) Data link
(d) Transport

Segmentation and reassembly are functions
of the .............layer.
(a)  Physical
(b) Data link 
(c)  Transport
(d)  Network

OT5020 OT5020

OR

What is the objective of DNS?

DNS 

URLs 

OR

5.

4

6.

4
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(v)

(v)

(vi)

(iv)

4.

OT5020OT5020

An IP packet is called a..........

(a)  User datagram

(b) Segment

(c) Datagram

(d) None of the above

 A TCP packet is called a .............

(a)  User datagram

(b)  Segment

(c) Datagram

(d)  None of these

OR

What is DNS

128.214.205.173/26. What is the host part?

128.214.205.173/26 

3.

4

4
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(vii)

(vii)

(viii)

(vi)

Answer all Five Questions. 

2.

4 x 5 = 20

4                     

(xx)

OT5020 OT5020

TCP 

An IPV4 address is ..................bits.

(a) 24

(b) 32

(c) 48

(d) None of these aboveki

A class B address starts with the ...........bits(s).

(a)  0

(b)  10

(c)  110

(d)  1111

What is router?
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A gateway recognizes ...........layer addresses.

(a) Datalink

(b) Datalink and network

(c)  Datalink, network and transport

(d) None of these

E-mail is a service handled by the......layer:

(a) Session

(b) Presentation

(c) Application

(d) Datalink

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)

OT5020OT5020

What is the class of the address 227.78.19.21

(a) A

(b) B

(c) C

(d) D

What is the class of the address 10.11.1.21?

(a)  A

(b)  B

(c)  C

(d)  D
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(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)

OT5020 OT5020

What is the netid of the address as 130.8.119.1?

(a) 130

(b) 130.8

(c) 130.8.119

(d) None of the above

What is the host id of the address 227.78.19.21?

(a)  78.19.21

(b)  19.21

(c)  21

(d)  None of these

The maximum value of the window size in

TCP is...........
16

(a)  2 -1
24

(b)  2 -1
32

(c)  2 -1

(d)  None of the above 

A bridge recognizes................layer addresses

(a)  Datalink

(b)  Network 1

(c)  Transport

(d)  None of these above
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(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)

OT5020OT5020

The protocol used to report a problem in
the IP packet is called................
(a) IGMP
(b) ICMP
(c) ARP
(d) None of the above

The size of the header in the UDP packet is
---------bytes.
(a)  8
(b)  16
(c)  4
(d)  None of above

UDP 

The length of the TCP header is ...........bytes.

(a) 20-40

(b) 20-60

(c) 0-60

(d) None of these

The maximum value of the sequence number

in TCP is ............
16

(a)  2-1
24

(b)  2-1
32

(c)  2-1

(d)  None of the above
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(i) POP3

(ii) IMAP 

(ii) IMAP

What do you mean by application layer? Explain

10.

OR

8

1718503 OT5020

(i) POP3

(ii) IMAP 

(ii) IMAP

What do you mean by application layer? Explain

10.

OR

8

OROR
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What are the duties of transport layer? Explain in

details.

201.70.64.0 . The company needs six subnets.

Design the subnets.

OR

11.

***

18 18503OT5020

What are the duties of transport layer? Explain in

details.

201.70.64.0. The company needs six subnets.

Design the subnets.

OR

11.

***

88
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